dehigvers

>

v WB Police Warder/Female Warder ((5# 7[fem) 2055 2@ ~)

1.

10.

‘forfe Drea o R SiEe itz —

(a) Sl (b) A
(c) T (d) =oiferte
(I MR % SR¥ 10-43 5 @4 2037
(a) 100 (b) 200

(c) 250 (d) 405

Ao Teq e F— 6 : 18 1 : 4: ?
(@ 122 (b) 12

(c) 16 (d) 8
Choose the correct prefix :
Grateful

(@) dis (b) un

(c) en (d) in

Fill up the blank :

He saw me by chance and
(a) was stopping (b) stops
(c) stopped (d) stop
TCHR Gt AL et TAC SR Al oot epmifie
20 e TE (A0S b 2@ (@ wEaife oiow w0 oieE
W__

(8 @=s (b) st

(c) TP (d) Toigw

@3 fG SRITS 9w 7 744 (6 (@q0e 15 NG (i
T AT A TE—

the car.

(@) 95t e 15 WG (b) 96 @ter 45 ff G
(c) 861 @te 15 s (d) 861 s 45 faifes
fawferfae @146 Internet sifvcaam waye
(forerunner) ?

(& INTRANET

(b) WIDE AREA NETWORK

(c) LOCAL AREA NETWORK

(d) ARPANET

Select the appropriate meaning of the
following Idioms & Phrases :

Blue Blood

(@) Member of reptile family

(b) Blood colour changed to Blue

(c) Member of aristocratic or noble family
(d) Belonging to the working class society
Fill up the blank with the correct word :

The shepherd was looking after the ——— of
sheep.
(@) fleet (b) gang

(c) flock (d) crew

11

12.

13.

14,

15.

16.

17.

18.

19.

20.

21.

22.

Exam held — 15.09.2019 |

Bifor W =T T3 (@A @t Fva [y (motto) 2
(a) T =fe (b) ZTC

(c) Wi, @. 9% (d) @3 2fem

ea I aifs AR4A0TF (greatest number) 7= 259
@I 847 (F ©l9l FACH AT (F(A2 7 T3 AR 2

(a) 47 (b) 168
© 21 (d) 84
‘T’ (JAVA) F SEE a2
(a) Sflq s (b) &= 2T
(©) &P @ e (d) st eI

Select the appropriate meaning of the following
Idioms & Phrases :

Bolt from the blue

() No idea (b) A complete surprise
(c) Informing something bad

(d) Thundering

Fill up the blanks :

We hope that Papa soon.

(a) will come (b) is coming

(c) will be coming (d) come

et R Bestfez z—

(a) wifFersy SreTefl (b) c=iGaEioE SeTel
(C) MGG sfowen  (d) T Aol
% (F =R HAfFe Fea—

(@ 3% (b) 30%

(c) 150% (d) 300%

Microsoft PowerPoint-«3 Jc4{t ‘zoom percentage’
?{_G"f———

(a) 400% (b) 150%

(c) 600% (d) 100%

Find the correctly spelt word :

(a) Juriesdiction (b) Juresdiction
(c) Jurisdection (d) Jurisdiction
Find the correctly spelt word :

(a) Accident (b) Aceident

(c) Accedent (d) Acident
2022 AE FIASEAL (5P SfIe ZEa—
(a) efeenTe (b) s =R

(c) EEm (d) R
I A b G #ACH SIPICE 2

6, 10, 14, 18, 22, 26, 30

(@ 34, 36 (b) 34, 38

(c) 38, 42 (d) 36, 40



S

23.
24,

25.

26.
27.

28.

29.

30.

31

32.

33.

34.

T - q, B - 5> * (IR, WO

ok

X’ GIwaiE F P2
5 Toiag ;o AR X

(a) T=! (ORIEERS

(©) =2 (d) 7

Choose the correct prefix :

Danger

(@) en (b) ous (c) ed (d) er

Find the correctly spelt word :
(@) Guarunte (b) Guaraante
(c) Guarantee (d) Guarante

(a) (b) germeT

(©) W=y (d) wifemai

MM 79l w1 ¢ F2, _ D8, C16, B32
(a) E3 (b) G4  (c) E4 (d) A6
A e Fw@ ¢ v, VI X1, X1V, XX
(@ XVl (b) XXl

(c) XV (d) 1X

Select the appropriate meaning of the
following Idioms & Phrases :

Raining cats and dogs

(a) Fighting between animals

(b) Raining blows on pets

(c) Fighting between two groups

(d) Raining heavily

Find the correctly spelt word :

(a) Annalytical (b) Anelytical
(c) Analitical (d) Analytical
CHAE 2’ NRIFH SLCHS 2R

(8) YR TTRCHIRRIE D =L G (ACF

(b) TS IS R FTHIF (AT

() TT 7 A€ T (IO (AT

(d) @ ARSI 5 EToF (AT

S AT (ACF 5 T2 B3 Sreze 67 | A
e (AT 3 T2 (R | I wfres s 725 17
IR 2T OIZ(E AT IO T FO ?

(@) 19 == (b) 12 <=

() 15 === (d) 8 ===

e TelfB FIo= Frreae! o 2o #iifere 2 e
(@) 2 o= (b) 13 g«

(c) 16 «fz= (d) 17 o™=

Select the appropriate meaning of the
following Idioms & Phrases:

In hot water

() Medically useful water

(b) Water in turbulence

(c) Water getting hot suddenly

(d) Trouble with someone

35.

36.

37.

38.

39.

40.

41.

42.

43.

44.

45.

46.

Choose the correct prefix :

Advantage

(&) ub (b) re

() dis (d) de

(@I *2F TR *2F T AR ?

(a) W= (b) e

(c) &7 (d) =R

GG (AP OIF AP f&fer1oita 10% =S (77 |

(e fefaera fmifae e 450 Bl 2te oin e

& IO (A2
(@ Rs. 495 (b) Rs. 400
(c) Rs. 395 (d) Rs. 405

‘First Generation Computer’-9d ANTFE 261 ¢
(@) 1946-1959 (b) 1955-1965

(c) 1945-1979 (d) 1940-1950

Fill up the blank :

When the Principal entered the class, a student
— on the blackboard.

(a) is writing (b) was writing
(c) writes (d) wrote

Fill up the blank :

Columbus America.

(a) had discovered (b) discovered

(c) has discovered (d) discovers
woreul S (FAR TRES ?

(a) 5= (b) catramar
(OREERIEY (d) sif*e=Te
e e e ¢ X x X

X X
@x-1 (b) O
©1 d-1
RO 2™ NECFLACPR 2o —
(a) 3Co& 4009 (b) 2CGeT 4004
(c) 2CHE 4001 (d) 2CBeT 4002

Fill up the blank with the correct word :

Because of the hitter experience of the past, he
everywhere.

(a) suspects foul

(c) sees a danger

Fill up the blank :

The train had left before |

(a) reaches (b) reach

(c) was reaching (d) reached

frsfefee @ omiba gepa sfASE e 7=/ 9

(b) smells a rat
(d) dishelieve

the station.

(a) fotme™ (b) e
(c) wriftam Bifo (d) coi=



dehigvers
47.

48.

49.

50.

51.
52.

53.

54,

55.

56.

57.

58.

A &R B-&3 TR WS 3 ;51 B-93 57 A-ad
(AT 8 927 @ Z(E A-GF | FO 2

(a) 20 @== (b) 15 F==

(c) 10 === (d) 12 T==

‘BT (Pentium) 68 (R A0 T2RTE 2
(8) WETHEPE (b) 2C &=

(c) T ) 7. fo. f.

Fill up the blank with the correct word :
The salt spray has gradually the bridge.
(a) corroded (b) ravaged

(c) demolished (d) spoilt

Find the correctly spelt word :

(a) Aggrissive (b) Aggressive

(c) Agresssive (d) Aggresived

R ASCER SIS SloEEr 25—

(@) 9000 fefal E@IPrP (b) 4000 fSfal @RI
(c) 6000 f&fa GrErhrP (d) 3000 fEfa bR

ovx *Rrefe S ST (@ 2

(@) =iy (b) =

(c) ot (d) ofe
‘COBOL’-«@7 feisffel (&2

(a) ca P = cEs (b) T TES

(c) wo=T Wit (d) cap1 =fd 2o

Fill up the blank with the correct word :

My father keeps all his papers under
lock & key.

(a) confidential (b) necessary

(c) useful (d) required

Choose the correct prefix :

Monthly

(a) over (b) bye

(c) anti (d) bi

fsfefis @F @t s we

(a) sTBIeltadl (Isobars) — Bist

(b) ==& (Isochronal) — 1@

(c) A=A (Isotherms) — Si=Niat

(d) et (Isohyets) — et

16 w24 o1w 81w 2fS = Ao 2 el v =W
SRt WANGTR Toq AT 27—

(@ 14 (b) 11

(©) 10 (d) 12

Tt (T ARG 0T ST MADRA S *{60 (3741 27
NBESBT wizi+1 €2 ©iam BOMBAY *#5i (o1l
E—

(a) CQOCBZ
(c) CPOCBZ

(b) CPNCBZ
(d) CPNCBX

59.

60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

Choose the correct prefix :

Human

(&) non (b) in

(©) un (d) de

Sl AAF TG 21—

(@) ACHRGR (b) FCeNRfGR
() =SNG (d) TICARGR
e el s— 3216

@ 6 (b) 36

(c) 12 (d) 36

‘SQL’-g7 il wls zeT—

(a) Student Query Line

(b) Structured Question List

(c) Straight Query Language

(d) Structured Query Language

Fill up the blank with the correct word :

| can not to know much about it.
(a) contemplate (b) pretend
(c) conceive (d) imagine

Select the appropriate meaning of the
following Idioms & Phrases :

To bell the cat

(a) To face the risk  (b) Conflict

(c) Make friendship  (d) Facing enemy

e et EHea e aiite safge—

(a) SuFD Ferw (b) TETiTS
(c) SCERRR (d) S=TS
0123 = 10° =&

(a) 0-000123 (b) 0:0123
(c) 001023 (d) 123

o

‘Microsoft Word® fsfeifis @iaba Srizad 2

(8 Input Device (b) Application Software
(c) Processing Device (d) Operating System
AT SiFel W2l AR frew—

(@) vzl =f (b) 3fel e
() woft &Y (d) =t ot
2[S% FHHS ATICANTNE ACA—
(a) TS (b) 2oc=fe
(C) GBIt (d) suiCEETe
TR W WA @ 27 =IE e

11
Sabars
@ 3 ® 3
© § @ 3



71.

72.

73.

74.

75.

76.

7.

78.

79.

80.

T - q, B - 5> * (IR, WO

ok

A, B-93 @&, C, B-a3 ¥ D, C-43 3, E, D-@3a s |
©gte A, D-99 § =32

(a) *sfe (b) or=
(©) 0l (d) e
oo RS AL (A JRe 2
(8) 307 ¢ (b) 2007 £

(c) 20-93 0-2 =i+ (d) 50-43 50%
frsferie e 22 gfb 7St S s o sRfEe 2
(a) 9F @k 34 (b) TR @R 9T

(c) @ @R =i (d) IT>ife ¥k 34

«fo e Joena Bl e A 5 q=ed fonae 2ee
QR *owal E BT E—

(@) 50% (b) 10%

(c) 40% (d) 20%

5 CIC7od S “ghes Srameey e M 213 iifere
EXi

() F=ifar e (b) =Sl it
(C) Miw ITeSR 2MGe (d) ATeT™ 2P
T @I AT 9 =Rl et Krorey 2
(a) 416138 (b) 456138

(c) 447148 (d) 444138
@SR Ael7fog FaT—

(a) =tizw ffeorm (b) czfiTTS

(©) o= =fes (d) P

o Iefeia &g ¢ 30 fioiw| €3 «fer =g
CFaze folofd T |

(@) 84 3o (b) 500 =GR
(c) 450 @B (d) 90 3G
et T omaw A fof zteH—
(a) s (b) ifem=

(0) wagfs (d) wiereT

«3fG A 5 1 e, 36 Tl Fe1 @3 2z 75
wE | OF (T F© *Oi] ZeT J6T B2 ?

81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

(@) 12% (b) 20%
(c) 40% (d) 15%
ea @ A0 wfeaw (leap year) foer?
(a) 1998 (b) 2002
(c) 2014 (d) 2004

I RAT 25-9F %—é@ (TS 6 @ =Zea WA F©
A

(a) 1833 (b) 15-33

(c) 14-33 (d) 833

ORI @ TF A4 @, . ¥, SAf{eEl e Fa—
(a) =uifePt A= (b) = =i 3

(c) «zp. @1, 7. . (d) @ & =%

e fsfa wF ¢ 35%(60+ 25)

(a) 84 (b) 10

(c) 001 (d) 84

TIIOR AZFH SN el ZeT—

(a) = #HitS (b) =NeTeR i

(c) = ARre (d) Tt =i

TIRCS AL (FI AFAS 20 AR T Tl 2
(a) fo. fe. faifa (b) ACET™ 2PIW

(0) wezmellel (2 (d) @R @

1365, 1560 @<t 1755 ediefer o131, (HCF) zoi—

(a) 159 (b) 591
(c) 157 (d) 195
36-93 0-4% Z(E—

(a) 14-33 (b) 0-144
(c) 14-4 (d) 1-44
fefere @a aief TRt o 2
(a) B (b) et
(c) =iam (d)
S e FFa— 120 + (6+12x2)
(a) 4 (b) 40
(c) 6 (d) 20
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Answerswith Explanation

1. (d) ‘ferfex Sream o fop Zeiferm o1 =2a safes |
@b “CHF oI SR AEe G esd [WiEe |
fofe fRfofieT o zen worgmet «ft @i 4° (@It |
@t ot G-« foret sRfEe o b M|

2. (¢) £xX=5x10

X = 250
3. (b)6:18::4:7?

6_4

18 x
x =12
4. (b) Ungrateful
5. (c) Stopped
(2nd action of past is generally placed in Past
Indefinite.)
6. (d) McEd T WIS A ey SR A Tsfemeet
AIRe 2 & W (A [ioey TR @ S
5107 FA OILF Soign 30 | STl Tofgrer siafge
o= @0 Toign |
7. (d)11:60-3:15=8:45
ek 3 : 15 -45 mirror image 8 : 451
8. (d) Internet sifarza =airs 2e1 ARPANET (Advanced
Research Project Agency Network) | @5 sif&e
JeAIEa dforl oltss (oeAE al 1969 Aite
wifige zeafeer| 1971 AAital ARPANET 236
refmie @32 TR RYE JE FaleE |
9. (c) Member of aristocratic or noble family.
10. (c) flock of sheep.
(fleet of boats/gang of thieves/labourers crew
of sailors)
11. (c) siFe e AR (WR.9.9F) 25 SO T¥g
2T 2w o | simor e RS 8 SEieT,
1932 wte Bfere zfee | @2 Aifeda Sy
2 —T@s N A (FRFe) I TAMG o 71
Touching the sky with Glory".
12. (d) epfieprca Anfs e,
(259 — 7) @< (847 — 7) -47 alALe.
-, 252 @3} 840 -49 AAL.,
250) 840 (3
756
84) 252 (3
252

X

TR 2e1 841

13. (C) (@ @ (AMIfeRR SETe A WO Sl
SIf@T FCARER, T HEF SR @z
ez 1 23 | G 1995 AITET AN NSTFPIHER
el 2B e THAmE &l eifée 2|

14. (b) A complete surprise.

15. (&) Will come.

(the speaker assumes that something will
happen)

16. (C) F=8! a1 S=REF 1300 Fv Tweiw SRiFS #Af*5rais
ST oS! TR (AT ol 2wz |
@t SRSy @I e Aiew WAt (1400 ¥,
W) |

17. (d) %100 = 300%

18. (a) Microsoft Power Point $o[Z#/I7 &) I72© <o
wzrgsief SIfRItEI | @3 T ‘Zoom Percentage’
21 400% 1

19. (d) Jurisdiction

20. (a) Accident

21. (c) 2022 AT FAVSTIAL (915 B0 AR
e 20a | @ N TR BREe FSTHEe
(TP~ G FC3 | 27 Tetig, 2022 (ACF 7
oG, 2022-97 I @2 (1AG SPS 203 |

22. (b) 6, 10, 14, 18, 22, 26, 30 —4F AT G A7,

6+4=10 30 + 4 = [34]
10 + 4 = 14 34 + 4 = [39
14 +4=18
18 +4 =22
22 +4=26
26 + 4 = 30

23. (c) &2

24. (a) endanger

25. (¢) Guarantee

26. (d) Fifemi™ “elFren iR el #Iffoe | fofd gavem
TG (ED IRFS (7 |

x2 X2 X2 x2

I v v v
27. (c) F|2, %4, ,][?8, ,](316, ?32

1 1 -1 -1
28. (&)

29. (d) Raining heavily
30. (d) Analytical



@: T - q, TP - o

31. (b) ‘=AM 2’ 2019 AR 22 TN SIS 7o G
2 : 43 05 FZRAHIO TS AT 517 GToR
(AT GCH1® Z0ATRe | Af6T BACAIR fere et
w2 (SR (GSLV) -2 ST SErmsiel 7 ZaT |

32. (¢) Sfe-9F I ACIE S 5 J2d (@
O, ACFH-GF 6N 7 = (17 - 5) =7

= 12 =7
fefeT, A S 3 IQFT AT,
O, SICEE IO 7 = (12 + 3) I=F
= 15 =7

33. (a) 2 fSrra F~To Trwae! et 2 #ifste 231
“py FFITHR FFTel T IO @32 Sl
FCETRG I TS FoATE A OTO! LI Ty AT
27|

34. (d) Trouble with someone

35. (c) disadvantage

36. (d) =IE *=7 TR =127 &I Afifbe | MziREE
TR St 16 IR Ao G AR |
el [RoF MU IS 2 G TRWMIATE
ToAT S |

37. (d) f&fmiba e o1 = 450 BiFl @R O B2
10% =G el ZC,

we R 1 = 2(450><%)T‘;Ta5{

= 405 Gt

38.

39. (b) was writing
[The first action was being continued when the
second action (Principal entered) took place.]

40. (b) discovered (an event of past)

41. (a) wereul SreEel o Aitens Haialle *zrs 38
Tfel Tea-#1fRota g3z wmRe! =izt 23 {5 nfERcd
e | @it (B Tg AETH (|

x> x°
42. (c) FXF

-5+5

X 0
X—3+3

43. (b) 1971 AR o= ST 2C6e (@Al BrHa1 40047
A 2SR 22T @3 oot 7= wifere ABCFIATEER
wifiEE F0a | «@ft @3 4 [G-97 Hif+28 |

44. (b) smells arat (begin to suspect something wrong)

45. (d) reached.

(2nd action of Past will be indefinite)

46. (c) erifoia Fifo-7 e #ffeSa ey s |
@it AF7) 7l TP AN GePRANRB o |
47. (d) €31 I, A €38 B 93 I I JAGC,
3X =T @GR 5X T

* SFIRE, 055 W
RPN,
5x — 3x = 8
2x = 8
X=4

©IRCE, A-g7 8N TP = (3x 4) T=e = 12 A

‘coifBanr (Pentium) 206e FCoa=ie @ikl (ofd @3

IZT IR FICBI MR EP | 9ft 1993 At

Ay Torglfore 2rfes |

corroded

corroded : to slowly break apart and destroy

through a chemical process.

ravaged : violent destruction

demolished : to damage

spoilt : something stolen

50. (b) Aggressive

51. (C) ¥R FPetad S Siemar 21 6000 fofa
TR (SICET 5600C°, 10,0000 FCA21Z5) 1570
PG (AP (A (P Olo@l Tl AT AT |

52. (@) =] =Iel Aifeafer wiam | ©e] 251 (e |

53. (d) 1959 =itst CODASYL &< COBOL (Common
Business-Oriented Language) Tefd el | @t
cel T 2AACa 93 (el orRE esiw fefe s
Cofd zrafee | oo TIEF (F0a IR &0 3
ceeifii e cofd Il 2lee | ariele fifen
AT CFCae 2 IHERS JIO & |

54. (a) Confidential
(if the matter is ‘secret or private’, it should

be kept out of’ reach of other persons)
55. (d) bimonthly

56. (d) T AN JRBATTYG TS (T Pl (4!
aEl I& A 2 OICF WK (4] e |

57. (c) 16 1o 14 91w = 8
OiA SltiE e = (16 x 8)
T &fefb 1221 2 0 e 231, OrEret g+ A 28

= (16 x 8) + (16 x 2) = 160
T]T

48. (a)

49. (a)

FRANFTT Tgel 51T =11—%) =10

MADRAS—NBES

L| +1 A AP
| +1
+1
+1

+1
+1

58. (b)

GFBGIF N

BOMBAY—C P

L]
| +1




dehigvers

O

59. (b) inhuman

60. (b) Sl7 NlF TF 2o FICNRECR | FIERCOR @l
(ST @R AT FARTET TR OI7F ARTS
“AfIiel 1 2|

61. (a) 3216
I6° =6

62. (d) 'SQL" -«3 sl @G 2= Structured Query
Language| @fb (CBITT (0 O SPIRAICE Sy
BISEICRUC A I

63. (b) Pretend
64. (a) to face the risk

65. (d) e b CHiEa 30T SiGP SiRred Ferme!
*zra o[fge | @t 1864 e wifre zrafee |
TG |

0123 _ 4000123

10

67. (b) SECEFRTFG SANG T ST AFLEI | < =
w2 Bl @ (TS 41 I

68. (c) 7t & 1956 e BT IR AT
e ARG 2rafece | {5 1959 3ta1 Air Survey
of India-= M3 ARG &I O KAAHET! wF

66. (a)

FCAMRCET |
69. (C) o5 IFS AT OIS & 23| @b
AN @6 =l |
11 o 1
70.(a) 2,1, 3, 4-«9@?:{«5@@ 8
2 +2 =
Lo -1
1+2 =5
1.,_1
2" 4
1.,.1
47273
E-
I+
71. (d) :c-
B—A~

72.(b) 1x30-6 2 200 =(80)

02 x20=4 50% of 50 = 25

73. (8) J¢ TR RGR FTRAbes 2% | §T 0 Ao fozbos
o7 @R S [ gor fAebew 27| ek wTE
R 34 9jfASt SCerE ra s SRS |

74. (c) €@ [T, = = 100/-
AW 2@ = 300/-

9 = (300 — 100)/-
= 200/-

Wﬂv%: 40%

75. (a) 9fs T=a 5 @R T. AL AAFWICR Ffod
Trwace s fraot ol <5t 23 | fofe aaee fRamre
v @R Rced Ared AEAfs e 1962
A (AtF 2fs I%7 5 oA ORTe RE
Al 41 2|

76. (b) s=afew s am el 9 7 Keiey =7,
oizte, @12 weAfoe 9 7l [eey 7 |
2RI, 456138 A< 9 =i frerey, e Wi
sFafed MR 25 27

77. (d) RIS Tel7fog I o | @ISl 99w
ST (TSI * [ V(e T W& (AT
el TRAb e P FHioe 20 | TSIt
CIoR GreTe #Nifba T e x Ko e g |

78. (c) @b FofCwecam 3 = 30 foM

RER& RG] :%x(wf)z

:(%x30><30)aeﬁ"m§

= 450 3fGE
“Srerafew R s smaw R | ffq aiw
AOAT GG [ ST (< e | Moraifw
TR @R ARG CNATR T [T F 9%
Fag TCE fofere afbe |
80.(b) Red — 5

White — 3

Yelow —» 2

AEHOH FICT Z5W I SR,

79. (a)

2 — 209
15 X100 = 20%

81. (d) 2004 A=Ifb i< Tost | (@ AT 4 R ©l9f FACT
@Al SPIE AF N @12 Aee o 2

SIS0 = |
82. (c) facefa s =(:—13x25)+6
= 1433

83. (c) @b «.RAf (T @R kT AR FCATIH)
F 1987 e 2las «.f6.«ax. #Afcaa vie] wcafee |
TR SICH 25~ 22 ... o1 01 Zafee |

- 0} :é Q =
84. () 35x(60 + 25) lox(60>< 25) 84

85. (C) SIOR MRFH AT T 20eT [ars A2 |
off aoee oo [, smdfan a2 ceifeli




3 .2

T - 55 * I(IRF, 05

ok

fRtele | 1966 e fof “omeae’ @3k 1972 AT
safagae Tonfate gfie &

86. (d) TP @I SIFTeS 2iAw APAfs, [ qgsifs =i
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